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Note: The question paper is in three sections. The candidate has to answer 5
questions each from section | and section ll. Each question from Sections | & Il
carries 10 marks. Also, the candidate has to compulsorily answer all the 4
questions from section Il and each guestion carries 12.5 marks.

The question paper is set in English and translated /o Telugu. The English version

is considered as the authentic version for valuation purpose.
Enough space is available in the answer sheet for writing all answers. There is no
provision for additional answer sheets.
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Section - |
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1(a) A £Zand C enter into a partnership business with investments in the ratio

L
-
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| L
v

After four months A increases his share by 50% while Zwithdraws Ird  of  his
share. If the year end profit is Rs. 4,09,000, then find the share of Cin the profit 2
OR
(b) A person Psells an item at Rs.100 less than its marked price and receives 10% of
his selling price as his commission. Another person @ sells the same item  at

Rs. 200 less than the marked price and receives 20% of his  selling price as his
commission. If they get the same commission, then find the list price of the  item.
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Two persons A4 and 5 agree to finish a piece of work in 5 days for Rs.28,800.
But .4 alone can complete the work in 10 days while, Salone can do itin 12 days.
By taking help from another person Cthey finished the job on time. What is
the share of £ in the amount of Rs 28,8007

OR
For how many integers of .x does a triangle with side lengths 10, 24 and .xrhave all of its
angles acute ?
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Six distinct integers are picked at random from (1, 2, 3,...,10}. Whatis the
probability that, among these selected, the second smallest is 3 ?

OR
A box contains 11 balls numbered |, 2, 3, ..., 1. If six balls are drawn simultaneously

at random, what is the probability that the sum of the  numbers on the balls

drawn is odd ?
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The population of a country in the year 2000 was estimated as 641 million and in
2010 the estimate was 705 million. Assume that the population grows linearly
with the time. Then
(i)  What would be the estimate of population by 2020 ?
(i)  What was the population estimate in 1990 ?

OR
The population of a country was estimated to be 1.22 million in the year 1989 and to be
growing at the rate 3.4% annually. Then
() i t=0 denotes 1989, find formula for the population at time £
(ii)  When will the population gets doubled ?
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32 years, then find the average age of the population ?

OR

(b) When a student ~ walks to school, he averages 90 steps per minute, each of his
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steps being 75cm long. It takes him 16 minutes to get to school. Another student
& going to the same school by the same route, averages 100 steps per minutes,
but his steps are only 60cm long. How long it take @to get to school ?
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Section - |l
ety -l

The following Pie diagram shows the monthly expenditure of a family towards heads:
Food (A, Education (£), House Rent (4), Savings (.5) and Others (44.

Answer the following questions, using the above diagram.
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(i) What percent of the monthly income is spent on Education ?
(i()  Which two heads consume 40% of the income ?

(i)  Which two heads consume 45% of the income ?

(iv)  What percent of the monthly income is kept for Savings ?
(V) What percent of monthly income is spent on Food ?

OR

The production (in lakhs of units) of three types of products 4, & and € during
the years 2011 through 2015 by a company is tabulated below. Assume that the
costs of producing one unit of each of the products 4, Sand C are respectively Rs.3, 5
and 4.

201 2012 2013 2014 2015
A 50 35 60 50 70
-4 45 50 45 95 80
c 35 60 55 60 50

Using the above table answer the following questions.
(i) During the five years, on which product the maximum amount was spent ?
(i) What was the total production cost of the product Zduring the last three years ?

(iii) How much amount was spent on production of .4 and S during the years 2011
and 2012 ?
(iv) What percent of total units produced constitute the units .4 produced ?

(v) What parent of the total cost of production was spent on production of Zin all
the five years put together ?
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7 {a) Car Production in India

IMDiA CAR PROMEC TION
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Quarterly car production in India during August 2015 to July 2016 is shown in the
above bar graph. Using this, answer the following questions.

(i) During which month and year was the production lowest ?

(ii) During which months and years the production levels are equal ?

(iiiy By what approximate percent the production increased in March 2016 over
February 2016 ?

(iv)  What is the approximate percentage growth rate in the production in July 2016
compared to June 2016 7

(v)  Over which period production growth rate was on the increase ?

OR
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7(b) Annual GDP Growth Rate

THDHs GDP AMMULL GROWTH RATE
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India's GDP growth annual rate for the years July 2013 through July 2016 is
shown in the above graph. Using this graph answer the following questions:

(i) During which period the country has witnessed the lowest GDP annual
growth rate 7

(ii) Over these four years which period recorded highest GDP growth rate ?

(i)  During which periods did the GDP crossed 7.5 7

{iv)  Which period witnessed shamp downfall in GDP annual growth rate ?

(v) During which periods the GDP was below 7 ?
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Each of the following sequences follows a definite pattem. Fill in the blanks to
complete the sequence without breaking the pattem.

() Nigs Kiz1, Hogar
U &P BH
(i) ¥ asb=3(a+b) and a®b=ab+ab® then

20@3®s5)=____
(V) BY £V, HS, KPR,

(v) 3, 10, 21, 36, 55,

OR

(i) In a certain code APPLE is coded as ZKKOV. Then what is the code
word for CODE in the same code ?

(i) I BUTTER is coded as 123345, then what is the code word  for TUBE ?

(i) If, in a code, AXIS is coded as 02250920 then what is the code word for
AGENT ?

(iv)  If, in a code, WLSFD is the code word for ALERT, then which word is
coded as LOJTSE ?

(v) In a certain code, TEACHER is coded as GVZXSVI. In the same code,
what is the code word for STUDENT ?

$08 Dabedd 8O §d a8 PDBPB ESrD) VR 0d @ g37D8 Lo
gurigot grdui  HTFtodod.
(i) Nigs, K131, Hogs,

(y 4L A ____, 8 H
(i) Wa+b=>(a+h) and a® b = a*h + ab* eond

20B®s8)=_____
(v) &Y £V A5 AF,

e

(v) 3, 10, 21, 36, 55,
10
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